

**L^p - L^q -Time decay estimate for solution of the Cauchy
problem for hyperbolic partial differential equations
of linear thermoelasticity**

by JERZY GAWINECKI (Warszawa)

Abstract. We prove the L^p - L^q -time decay estimates for the solution of the Cauchy problem for the hyperbolic system of partial differential equations of linear thermoelasticity. In our proof based on the matrix of fundamental solutions to the system we use Strauss–Klainerman’s approach [12], [5] to the L^p - L^q -time decay estimates.

0. Introduction. We consider the Cauchy problem for the hyperbolic system of partial differential equations of linear thermoelasticity (cf. [13]):

$$(0.1) \quad \rho \partial_t^2 u - \mu \Delta u - (\lambda + \mu) \operatorname{grad} \operatorname{div} u + \beta \operatorname{grad} \partial_t T = 0,$$

$$(0.2) \quad \beta \operatorname{div} \partial_t u + \rho \tau \partial_t^2 T - k \Delta T = 0,$$

with initial conditions

$$(0.3) \quad \begin{aligned} u(+0, x) &= u^0(x), & (\partial_t u)(+0, x) &= u^1(x) \\ T(+0, x) &= T^0(x), & (\partial_t T)(+0, x) &= T^1(x) \end{aligned}$$

where $u = (u_1, u_2, u_3)$ is the displacement vector field of the medium, T the temperature of the medium, $t \geq 0$, $x \in \mathbb{R}^3$, $\partial_t = \partial/\partial t$, $\Delta = \sum_{j=1}^3 \partial_j^2$; ρ , μ , λ , β , τ , k are positive physical constants; u^0 , u^1 , T^0 , T^1 are given functions.

Remark 0.1. The system (0.1)–(0.2) is the principal part of a hyperbolic system of partial differential equations describing the evolution of a thermoelastic medium (cf. E. S. Suhubi [13], p. 199, formulae (2.7.36)). For the sake of simplicity we assume in system (2.7.36) that $\gamma = 1$ and $T_0 = 1$.

Under the assumption that the Cauchy data u^0 , u^1 , T^0 , T^1 are smooth enough (cf. [4], formulae (5.1)–(5.3)) the solution of the problem (0.1)–(0.3)

1985 *Mathematics Subject Classification*: 35A07, 35A08, 35E05, 35E15, 35L15, 35L40, 35L45, 73B30, 35B40.

Key words and phrases: decay estimates, partial differential equations, Cauchy problem, symmetric hyperbolic system of first order, linear thermoelasticity.

is given by

$$(0.4) \quad U(t, x) = (u(t, x), T(t, x)) = H(t, \cdot) * \bar{g}(x) + \partial_t H(t, \cdot) * \tilde{h}(x)$$

where $\bar{g}(\cdot) = \tilde{g}(\cdot) + D(\partial)\tilde{h}(\cdot)$, $\tilde{g}(x) = (u^1(x), T^1(x))$, $\tilde{h}(x) = (u^0(x), T^0(x))$,

$$D(\partial) = \begin{pmatrix} 0 & 0 & 0 & \beta\partial_1 \\ 0 & 0 & 0 & \beta\partial_2 \\ 0 & 0 & 0 & \beta\partial_3 \\ \beta\partial_1 & \beta\partial_2 & \beta\partial_3 & 0 \end{pmatrix},$$

* denotes the three-dimensional convolution in \mathbb{R}^3 and $H(t, x)$ is the matrix of fundamental solutions of the system (0.1)–(0.2) constructed in [4] of the form

$$(0.5) \quad \begin{aligned} & H_{jk}(t, x) \\ &= (32\pi^7! \rho^4 \tau)^{-1} \left\{ \delta_{jk}(1 - \delta_{k4}) \left[\frac{A_1}{a_1^2} \frac{1}{|x|} \delta \left(t - \frac{|x|}{a_1} \right) \right. \right. \\ & \quad \left. \left. - \frac{A_2}{a_2^2} \frac{1}{|x|} \delta \left(t - \frac{|x|}{a_2} \right) - \frac{B}{b^2} \frac{1}{|x|} \delta \left(t - \frac{|x|}{b} \right) \right] \right. \\ & \quad \left. + \delta_{jk} \delta_{k4} \left[\frac{A_3}{a_1^2} \frac{1}{|x|} \delta \left(t - \frac{|x|}{a_1} \right) - \frac{A_4}{a_2^2} \frac{1}{|x|} \delta \left(t - \frac{|x|}{a_2} \right) \right] \right. \\ & \quad \left. + \delta_{jj}(1 - \delta_{k4}) \left[\frac{A_5}{a_1^2} \frac{x_j x_k}{|x|^3} \delta \left(t - \frac{|x|}{a_1} \right) \right. \right. \\ & \quad \left. \left. - \frac{A_6}{a_2^2} \frac{x_j x_k}{|x|^3} \delta \left(t - \frac{|x|}{a_2} \right) + \frac{B}{b^2} \frac{x_j x_k}{|x|^3} \delta \left(t - \frac{|x|}{b} \right) \right] \right. \\ & \quad \left. - \delta_{jj}(1 - \delta_{k4}) \left[A_7 t \left(\frac{\delta_{jk}}{|x|^3} - \frac{3x_j x_k}{|x|^5} \right) \left[\varepsilon \left(t - \frac{|x|}{a_1} \right) - \varepsilon \left(t - \frac{|x|}{a_2} \right) \right] \right. \right. \\ & \quad \left. \left. + A_8 t \left(\frac{\delta_{jk}}{|x|^3} - \frac{3x_j x_k}{|x|^5} \right) \left[\varepsilon \left(t - \frac{|x|}{b} \right) - \varepsilon \left(t - \frac{|x|}{a_1} \right) \right] \right. \right. \\ & \quad \left. \left. + A_9 t \left(\frac{\delta_{jk}}{|x|^3} - \frac{3x_j x_k}{|x|^5} \right) \left[\varepsilon \left(t - \frac{|x|}{b} \right) - \varepsilon \left(t - \frac{|x|}{a_2} \right) \right] \right] \right. \\ & \quad \left. + A_{10} \frac{x_j}{|x|^3} \left[\varepsilon \left(t - \frac{|x|}{a_1} \right) - \varepsilon \left(t - \frac{|x|}{a_2} \right) \right] \delta_{4j}(1 - \delta_{kj}) \right. \\ & \quad \left. + A_{10} \frac{x_j}{|x|^2} \left[\delta \left(t - \frac{|x|}{a_1} \right) - \delta \left(t - \frac{|x|}{a_2} \right) \right] \delta_{4j}(1 - \delta_{kj}) \right\}, \end{aligned}$$

$j, k = 1, 2, 3, 4,$

where δ_{jk} denotes the Kronecker symbol, $\delta(\cdot)$ is Dirac's distribution, $\varepsilon(\cdot)$ is Heaviside's function

$$\varepsilon(t) = \begin{cases} 1 & \text{for } t > 0, \\ 0 & \text{for } t < 0, \end{cases}$$

and $a_1, a_2, b, A_1, \dots, A_{10}, B$ are constants.

The aim of this paper is to prove the L^∞ - L^1 -time decay estimates for the solution of the problem (0.1)–(0.3) using the formula (0.4), then to prove the L^2 - L^2 -time decay estimates for this solution applying some theorems of the theory of symmetric first order hyperbolic systems (cf. Yu. V. Egorov [3], p. 320–333) and finally the L^p - L^q -time decay estimates using interpolation inequalities in Sobolev spaces (cf. [10], [7], [14]).

Such L^p - L^q -time decay estimates play an important role in the proof of global (in time) existence of solution to the Cauchy problem for nonlinear wave equations (cf. [5], [7]).

Notation: Besides other standard notation we use the symbol $L^p_{,m}(\mathbb{R}^3) = W^{m,p}(\mathbb{R}^3)$ ($1 \leq p \leq \infty, m \in \mathbb{N} \cup \{0\}$) for the well-known Sobolev spaces with norm $\|\cdot\|_{L^p_{,m}(\mathbb{R}^3)} = \|\cdot\|_{W^{m,p}(\mathbb{R}^3)}$ (cf. [1], [11]); $W^{0,p}(\mathbb{R}^3) = L^p(\mathbb{R}^3)$ with norm $\|\cdot\|_{L^p(\mathbb{R}^3)}$.

We also write

$$\nabla f = (\partial_t f, \partial_{x_1} f, \partial_{x_2} f, \partial_{x_3} f)$$

for the space-time gradient of a function f , and

$$Df = (\partial_{x_1} f, \partial_{x_2} f, \partial_{x_3} f)$$

for the space gradient of f .

$[s]$ denotes the smallest integer larger than or equal to s for $s \in \mathbb{R}$.

1. The L^∞ - L^1 -time decay estimates. We shall prove the following theorem:

THEOREM 1.1 (L^∞ - L^1 -time decay estimates). *Let the Cauchy data u^0, u^1, T^0, T^1 be functions vanishing at infinity. Moreover, let*

$$(u^1, Du^0, T^1, DT^0) \in L^1_{,3}(\mathbb{R}^3).$$

Then the solution (u, T) of the problem (0.1)–(0.3) given by the formula (0.4) satisfies the following estimates:

$$(1.1) \quad \|(u(t, \cdot), T(t, \cdot))\|_{L^\infty(\mathbb{R}^3)} \leq C(1+t)^{-1} \|(u^1, Du^0, T^1, DT^0)\|_{L^1_{,3}(\mathbb{R}^3)},$$

$$(1.2) \quad \begin{aligned} & \|(\nabla u(t, \cdot), \nabla T(t, \cdot))\|_{L^\infty(\mathbb{R}^3)} \\ & \leq C(1+t)^{-1} \|(u^1, Du^0, T^1, DT^0)\|_{L^1_{,3}(\mathbb{R}^3)} \end{aligned}$$

for $t \geq 0$, where C is a constant independent of u^0, u^1, T^0, T^1 and t .

Proof. We prove (1.2). The proof of (1.1) runs in the same way. Writing the solution $U(t, x) = (u(t, x), T(t, x))$ given by the formula (0.4) in the form

$$(1.3) \quad U_j(t, x) = \sum_{k=1}^4 H_{jk}(t, \cdot) * \bar{g}^k(x) + \sum_{k=1}^4 \partial_t H_{jk}(t, \cdot) * \tilde{h}^k(x),$$

$j = 1, 2, 3, 4$, where $U_j(t, x) = u_j(t, x)$, $j = 1, 2, 3$, $U_4(t, x) = T(t, x)$, and differentiating (1.3) with respect to t and x_l (for $l = 1, 2, 3$) we get

$$(1.4) \quad \begin{aligned} \partial_t U_j(t, x) &= \sum_{k=1}^4 \partial_t H_{jk}(t, \cdot) * \bar{g}^k(x) \\ &+ \sum_{k=1}^4 \sum_{l=1}^3 \left[\frac{\mu}{\rho} \partial_l H_{jk}(t, \cdot) + \frac{\lambda + \mu}{\rho} \partial_j H_{lk}(t, \cdot) \right] * \tilde{h}_l^k(x) \\ &- \sum_{k=1}^4 \frac{\beta}{\rho} \partial_t H_{jk}(t, \cdot) * \tilde{h}_j^k(x), \quad j = 1, 2, 3, \end{aligned}$$

$$(1.5) \quad \begin{aligned} \partial_t U_4(t, x) &= \sum_{k=1}^4 \partial_t H_{4k}(t, \cdot) * \bar{g}^k(x) \\ &+ \sum_{k=1}^4 \sum_{l=1}^3 \frac{k}{\rho} \partial_l H_{4k}(t, \cdot) * \tilde{h}_l^k(x) \\ &- \sum_{k=1}^4 \sum_{l=1}^3 \frac{\beta}{\rho} \partial_t H_{lk}(t, \cdot) * \tilde{h}_l^k(x), \end{aligned}$$

$$(1.6) \quad \partial_t U_j(t, x) = \sum_{k=1}^4 \partial_l H_{jk}(t, \cdot) * \bar{g}^k(x) + \sum_{k=1}^4 \partial_t H_{jk}(t, \cdot) * \tilde{h}_l^k(x),$$

$l = 1, 2, 3$, $j = 1, 2, 3, 4$, $\tilde{h}_m^k = \partial_{x_m} \tilde{h}^k$, $m = 1, 2, 3$. We can write (1.4)–(1.6) in vector form as follows:

$$(1.7) \quad V(t, x) = R(t, \cdot) * V^0(x)$$

where

$$(1.8) \quad V(t, x) = (\nabla u, \nabla T), \quad V^0(x) = (u^1, Du^0, T^1, DT^0)$$

and $R(t, x)$ is a 16×16 matrix with elements which are linear combinations of the terms $\partial_l H_{jk}(t, x)$ and $\partial_t H_{jk}(t, x)$ (cf. (1.3)–(1.6)). From (1.3)–(1.6) and (1.7) it follows that in order to prove the estimate (1.2) it is sufficient to prove the following estimates:

$$(1.9) \quad \|\partial_t H_{jk}(t, \cdot) * f\|_{L^\infty(\mathbb{R}^3)} \leq C(1+t)^{-1} \|f\|_{L^1_{,3}(\mathbb{R}^3)},$$

$$(1.10) \quad \|\partial_l H_{jk}(t, \cdot) * f\|_{L^\infty(\mathbb{R}^3)} \leq C(1+t)^{-1} \|f\|_{L^1_{,3}(\mathbb{R}^3)}$$

for $j, k = 1, 2, 3, 4$ and any scalar function $f(x)$ satisfying the assumptions of Theorem 1.1. Taking into account the form of the matrix $H(t, x)$ (cf. (0.5)) we get

$$(1.11) \quad H_{jk}(t, \cdot) * f(x)$$

$$\begin{aligned}
 &= (32\pi^7! \rho^4 \tau)^{-1} \left\{ \delta_{jk}(1 - \delta_{k4}) \left[\frac{A_1}{a_1} \int_{|z|=a_1} \frac{t}{a_1} f(x + tz) dS_z \right. \right. \\
 &\quad \left. \left. - \frac{A_2}{a_2} \int_{|z|=a_2} t \frac{1}{a_2} f(x + tz) dS_z - \frac{B}{b} \int_{|z|=b} t \frac{1}{b} f(x + tz) dS_z \right] \right. \\
 &\quad \left. + \delta_{jk} \delta_{k4} \left[\frac{A_3}{a_1} \int_{|z|=a_1} t \frac{1}{a_1} f(x + tz) dS_z - \frac{A_4}{a_2} \int_{|z|=a_2} t \frac{1}{a_2} f(x + tz) dS_z \right] \right. \\
 &\quad \left. + \delta_{jj}(1 - \delta_{k4}) \left[\frac{A_5}{a_1} \int_{|z|=a_1} t \frac{z_j z_k}{a_1^3} f(x + tz) dS_z \right. \right. \\
 &\quad \left. \left. - \frac{A_6}{a_2} \int_{|z|=a_2} t \frac{z_j z_k}{a_2^3} f(x + tz) dS_z + \frac{B}{b} \int_{|z|=b} t \frac{z_j z_k}{b^3} f(x + tz) dS_z \right] \right. \\
 &\quad \left. - \delta_{jj}(1 - \delta_{k4}) \left[A_7 \int_{a_1 \leq |z| \leq a_2} t \left(\frac{\delta_{jk}}{|z|^3} - \frac{3z_j z_k}{|z|^5} \right) f(x + tz) dz \right. \right. \\
 &\quad \left. \left. + A_8 \int_{b \leq |z| \leq a_1} t \left(\frac{\delta_{jk}}{|z|^3} - \frac{3z_j z_k}{|z|^5} \right) f(x + tz) dz \right. \right. \\
 &\quad \left. \left. + A_9 \int_{b \leq |z| \leq a_2} t \left(\frac{\delta_{jk}}{|z|^3} - \frac{3z_j z_k}{|z|^5} \right) f(x + tz) dz \right] \right. \\
 &\quad \left. + \delta_{4j}(1 - \delta_{kj}) A_{10} \int_{a_1 \leq |z| \leq a_2} \frac{z_j}{|z|^3} f(x + tz) dz \right. \\
 &\quad \left. + \delta_{4j}(1 - \delta_{kj}) A_{10} \left[\int_{|z|=a_1} t \frac{z_j}{a_1^2} f(x + tz) dS_z \right. \right. \\
 &\quad \left. \left. - \int_{|z|=a_2} t \frac{z_j}{a_2^2} f(x + tz) dS_z \right] \right\}
 \end{aligned}$$

where dS_z is the area element of the sphere $|z| = a_j$, $j = 1, 2$, or of $|z| = b$.

For simplicity we consider two typical integrals occurring on the right hand side of (1.11) (other integrals in (1.11) are estimated similarly):

$$(1.12) \quad I^1 = \int_{|y|=b} t f(x + ty) dS_y,$$

$$(1.13) \quad I^2 = \int_{b \leq |y| \leq a} t \frac{f(x + ty)}{|y|^3} dy.$$

Differentiating the integrals I^1 and I^2 with respect to t and x_l ($l = 1, 2, 3$)

we obtain ⁽¹⁾

$$(1.14) \quad I_t^1 = \int_{|y|=b} f(x+ty) dS_y + \int_{|y|=b} t \partial_t f(x+ty) dS_y,$$

$$(1.15) \quad I_t^2 = \int_{b \leq |y| \leq a} \frac{f(x+ty)}{|y|^3} dy + \int_{b \leq |y| \leq a} \frac{t}{|y|^3} \partial_t f(x+ty) dy,$$

$$(1.16) \quad I_{x_l}^1 = \int_{|y|=b} t \partial_{x_l} f(x+ty) dS_y,$$

$$(1.17) \quad I_{x_l}^2 = \int_{b \leq |y| \leq a} \frac{t}{|y|^3} \partial_{x_l} f(x+ty) dy.$$

Following S. Klainerman (cf. [5], pp. 53–59) we get

$$(1.18) \quad f(x+ty) = - \int_t^\infty \partial_s f(x+sy) ds = \int_t^\infty (s-t) \partial_s^2 f(x+sy) ds \\ = -\frac{1}{2} \int_t^\infty (s-t)^2 \partial_s^3 f(x+sy) ds,$$

$$(1.19) \quad \partial_t f(x+ty) = - \int_t^\infty \partial_s^2 f(x+sy) ds = \int_t^\infty (s-t) \partial_s^3 f(x+sy) ds.$$

In view of (1.18), (1.19) we have

$$(1.20) \quad I_t^1 = \int_{|y|=b} \int_t^\infty (s-t) \partial_s^2 f(x+sy) ds dS_y \\ - \int_{|y|=b} t \int_t^\infty \partial_s^2 f(x+sy) ds dS_y \\ = t^{-1} \left[\int_{|y|=b} \int_t^\infty t(s-t) \partial_s^2 f(x+sy) ds dS_y \right. \\ \left. - \int_{|y|=b} \int_t^\infty t^2 \partial_s^2 f(x+sy) ds dS_y \right]$$

for $t > 0$.

Taking into account that

$$(1.21) \quad |\partial_s^2 f(x+sy)| = \left| \sum_{j,k=1}^3 \partial_{x_j x_k}^2 f(x+sy) y_j y_k \right| \leq \frac{1}{2} b^2 |D_x^2 f(x+sy)|$$

⁽¹⁾ We use the notation $\partial_t I^j = I_t^j$, $\partial_l I^j = I_{x_l}^j$, $j = 1, 2$.

for $|y| = b$ and $t(s-t) \leq s^2$, $t^2 \leq s^2$ for $0 \leq t \leq s \leq \infty$ we get

$$(1.22) \quad |I_t^1| \leq t^{-1} b^2 \int_{|y|=b} \int_t^\infty s^2 |D_x^2 f(x+sy)| ds dS_y.$$

Using the spherical coordinates we have

$$(1.23) \quad |I_t^1| \leq b t^{-1} \|D_x^2 f\|_{L^1(\mathbb{R}^3)} \quad \text{for } t > 0.$$

Acting in the same way we get

$$(1.24) \quad I_{x_i}^1 = - \int_{|y|=b} \int_t^\infty \partial_s [\partial_{x_i} f(x+sy)] ds dS_y.$$

Since

$$|\partial_s [\partial_{x_i} f(x+sy)]| = \left| \sum_{j=1}^3 \partial_{x_i x_j}^2 f(x+sy) y_j \right| \leq b |D_x^2 f(x+sy)| \quad \text{for } |y| = b$$

we have

$$(1.25) \quad \begin{aligned} |I_{x_i}^1| &\leq t^{-1} b \int_{|y|=b} \int_t^\infty s^2 |D_x^2 f(x+sy)| ds dS_y \\ &\leq t^{-1} \|D_x^2 f\|_{L^1(\mathbb{R}^3)} \quad \text{for } t > 0. \end{aligned}$$

Similarly

$$(1.26) \quad \begin{aligned} |I_t^2| &\leq b^{-3} \left[\int_{b \leq |y| \leq a} |f(x+ty)| dy + \int_{b \leq |y| \leq a} t |\partial_t f(x+ty)| dy \right] \\ &\leq b^{-3} \left[\int_{b \leq |y| \leq a} |f(x+ty)| dy + a \int_{b \leq |y| \leq a} t |D_x^1 f(x+ty)| dy \right], \end{aligned}$$

$$(1.27) \quad |I_{x_i}^2| \leq b^{-3} \int_{b \leq |y| \leq a} t |D_x^1 f(x+ty)| dy.$$

Changing the variable ty to z in the above integrals we derive

$$(1.28) \quad \begin{aligned} |I_t^2| &\leq b^{-3} \left[\frac{1}{t^3} \int_{bt \leq |z| \leq at} f(x+z) dz \right. \\ &\quad \left. + \frac{a}{t^2} \int_{bt \leq |z| \leq at} |D_x^1 f(x+z)| dz \right] \\ &\leq b^{-3} \left[\frac{1}{t^3} \|f\|_{L^1(\mathbb{R}^3)} + \frac{a}{t^2} \|D_x^1 f\|_{L^1(\mathbb{R}^3)} \right], \end{aligned}$$

$$(1.29) \quad |I_{x_i}^2| \leq \frac{b^{-3}}{t^2} \int_{bt \leq |z| \leq at} |D_x^1 f(x+z)| dz \leq \frac{b^{-3}}{t^2} \|D_x^1 f\|_{L^1(\mathbb{R}^3)}.$$

Noting that $1/t^3 \leq 1/t^2 \leq 1/t$ for $t \geq 1$ we get

$$(1.30) \quad |I_t^2| + |I_{x_l}^2| \leq Ct^{-1} \|D_x^1 f\|_{L^1(\mathbb{R}^3)} \quad \text{for } t \geq 1.$$

From (1.23), (1.25), (1.30) we obtain

$$(1.31) \quad \|\nabla H_{jk}(t, \cdot) * f(\cdot)\|_{L^\infty(\mathbb{R}^3)} \leq Ct^{-1} \|f\|_{L^1_2(\mathbb{R}^3)}$$

for $t \geq 0$ and $j, k = 1, 2, 3, 4$.

In order to obtain an estimate analogous to (1.30) for $0 \leq t \leq 1$ we proceed as above expressing the integrals I_t^1 and $I_{x_l}^2$ (cf. (1.18), (1.19)) in the following form:

$$(1.32) \quad I_t^1 = -\frac{1}{2} \int_{|y|=b} \int_t^\infty (s-t)^2 \partial_s^3 f(x+sy) ds dS_y \\ + \int_{|y|=b} t \int_t^\infty (s-t) \partial_s^3 f(x+sy) ds dS_y,$$

$$(1.33) \quad I_{x_l}^1 = \int_{|y|=b} t \int_t^\infty (s-t) \partial_s^2 [\partial_{x_l} f(x+sy)] ds dS_y.$$

After some calculations we get

$$(1.34) \quad |I_t^1| + |I_{x_l}^1| \leq C \|f\|_{L^1_3(\mathbb{R}^3)} \quad \text{for } t \geq 0.$$

It is easy to see that for $0 \leq t \leq 1$

$$(1.35) \quad \left| \int_{b \leq |y| \leq a} \frac{f(x+ty)}{|y|^3} dy \right| \leq b^{-3} \int_{b \leq |y| \leq a} |f(x+ty)| dy \\ \leq b^{-3} \|f\|_{L^1(\mathbb{R}^3)},$$

$$(1.36) \quad \left| \int_{b \leq |y| \leq a} t \frac{\partial_t f(x+ty)}{|y|^3} dy \right| \leq b^{-3} \int_{b \leq |y| \leq a} \left| \sum_{j=1}^3 \partial_{x_j} f(x+ty) y_j \right| dy \\ \leq b^{-3} a \|D_x^1 f\|_{L^1(\mathbb{R}^3)},$$

$$(1.37) \quad \left| \int_{b \leq |y| \leq a} \frac{t}{|y|^3} \partial_{x_l} f(x+ty) dy \right| \leq b^{-3} \int_{b \leq |y| \leq a} |\partial_{x_l} f(x+ty)| dy \\ \leq b^{-3} \|D_x^1 f\|_{L^1(\mathbb{R}^3)}.$$

Hence

$$(1.38) \quad |I_t^2| + |I_{x_l}^2| \leq C\|f\|_{L^1_{,1}(\mathbb{R}^3)} \quad \text{for } 0 \leq t \leq 1.$$

Thus from (1.38) and (1.34) we obtain

$$(1.39) \quad \|\nabla H_{jk}(t, \cdot) * f(\cdot)\|_{L^\infty(\mathbb{R}^3)} \leq C\|f\|_{L^1_{,3}(\mathbb{R}^3)} \quad \text{for } 0 \leq t \leq 1.$$

Now, in view of $1 \leq 2(1+t)^{-1}$ for $0 \leq t \leq 1$ and $t^{-1} \leq 2(1+t)^{-1}$ for $t \geq 1$ and taking into account (1.31), (1.39) we conclude that

$$(1.40) \quad \|\nabla H_{jk}(t, \cdot) * f(\cdot)\|_{L^\infty(\mathbb{R}^3)} \leq C(1+t)^{-1}\|f\|_{L^1_{,3}(\mathbb{R}^3)} \quad \text{for } t \geq 0. \quad \blacksquare$$

2. The L^2 - L^2 -time decay estimates. We derive the L^2 - L^2 -time decay estimates for solution of the Cauchy problem (0.1)–(0.3). More precisely, we formulate the following theorem:

THEOREM 2.1 (L^2 - L^2 -time decay estimates). *Let the Cauchy data u^0 , u^1 , T^0 , T^1 be functions vanishing at infinity. Moreover, let*

$$(u^1, Du^0, T^1, DT^0) \in L^2(\mathbb{R}^3).$$

Then the solution (u, T) of the problem (0.1)–(0.3) given by the formula (0.4) satisfies the following estimates:

$$(2.1) \quad \|(u(t, \cdot), T(t, \cdot))\|_{L^2(\mathbb{R}^3)} \leq C\|(u^1, Du^0, T^1, DT^0)\|_{L^2(\mathbb{R}^3)} \quad \text{for } t \geq 0,$$

$$(2.2) \quad \|(\nabla u(t, \cdot), \nabla T(t, \cdot))\|_{L^2(\mathbb{R}^3)} \leq C\|(u^1, Du^0, T^1, DT^0)\|_{L^2(\mathbb{R}^3)} \quad \text{for } t \geq 0,$$

where C is constant independent of u^0 , u^1 , T^0 , T^1 and t .

Sketch of proof. Following Yu. V. Egorov (cf. [3], pp. 320–322, 326–333) we reduce the Cauchy problem (0.1)–(0.3) to an equivalent Cauchy problem for a linear symmetric hyperbolic system of first order. Next, applying the existence and uniqueness theorems (cf. [3], Theorem 3.2, p. 329) we obtain the estimates (2.1), (2.2).

3. The L^p - L^q -time decay estimates. In this section we express the L^p - L^q -time decay estimates for solutions of the Cauchy problem (0.1)–(0.3) in terms of their gradient.

We consider the operator Π_* defined as follows:

$$(3.1) \quad \Pi_* f(x) = R(t, \cdot) * f(x) \quad \text{for any function } f(x)$$

satisfying the assumptions of Theorems 1.1 and 2.1, where $R(t, x)$ is defined by (1.7).

From Theorems 1.1 and 2.1 it follows that

$$(3.2) \quad \Pi_*^0 : L_{,3}^1(\mathbb{R}^3) \longrightarrow L^\infty(\mathbb{R}^3), \quad \|\Pi_*^0\| \leq C(1+t)^{-1},$$

$$(3.3) \quad \Pi_*^1 : L^2(\mathbb{R}^3) \longrightarrow L^2(\mathbb{R}^3), \quad \|\Pi_*^1\| \leq C.$$

By interpolation (cf. J. Shatah [10], S. Klainerman and G. Ponce [7]) we have

$$(3.4) \quad \begin{aligned} \Pi_*^\theta &: [L_{,3}^1, L^2]_\theta \longrightarrow [L^\infty, L^2]_\theta, \\ \|\Pi_*^\theta\| &= \|\Pi_*^0\|^{1-\theta} \|\Pi_*^1\|^\theta \quad \text{with } 0 \leq \theta \leq 1, \end{aligned}$$

where $[X, Y]_\theta$ ($0 \leq \theta \leq 1$) denotes the complex interpolation space (cf. [8], [14]) with respect to X and Y .

In order to obtain the L^p - L^q -time decay estimates (where $q = 2\alpha + 2$, $p = (2\alpha + 2)/(2\alpha + 1)$, $1/p + 1/q = 1$, α is a nonnegative integer) we notice that for $\theta = 1/(\alpha + 1)$

$$(3.5) \quad [L_{,3}^1, L^2]_{1/(\alpha+1)} = L_{,s_0}^p \quad \text{where } s_0 = \left[\frac{3\alpha}{\alpha+1} \right], \quad p = \frac{2\alpha+2}{2\alpha+1},$$

$$(3.6) \quad [L^\infty, L^2]_{1/(\alpha+1)} = L^{2\alpha+2}.$$

Hence, we have

$$(3.7) \quad \Pi_*^{(\alpha)} : L_{,s_0}^p(\mathbb{R}^3) \longrightarrow L^{2\alpha+2}(\mathbb{R}^3),$$

$$(3.8) \quad \|\Pi_*^{(\alpha)}\| = \|\Pi_*^0\|^{1-1/(\alpha+1)} \|\Pi_*^1\|^{1/(\alpha+1)} \leq C(1+t)^{-\alpha/(\alpha+1)}.$$

So, we have proved the following theorem:

THEOREM 3.1 (L^p - L^q -time decay estimates). *Let the Cauchy data u^0 , u^1 , T^0 , T^1 be functions vanishing at infinity. Moreover, let*

$$(u^1, Du^0, T^1, DT^0) \in L_{,s_0}^p(\mathbb{R}^3) \quad \text{for } p = \frac{2\alpha+2}{2\alpha+1},$$

$s_0 = [3\alpha/(\alpha+1)]$ and α a nonnegative integer. Then the solution of the problem (0.1)–(0.3) given by the formula (0.4) satisfies the following estimates:

$$(3.9) \quad \begin{aligned} &\|(\nabla u(t, \cdot), \nabla T(t, \cdot))\|_{L^{2\alpha+2}(\mathbb{R}^3)} \leq C(1+t)^{-\alpha/(\alpha+1)} \\ &\quad \times \|(u^1, Du^0, T^1, DT^0)\|_{L_{,s_0}^p(\mathbb{R}^3)} \quad \text{for } t \geq 0 \end{aligned}$$

where C is a constant independent of u^0 , u^1 , T^0 , T^1 and t .

Remark 3.1. In a subsequent paper, we shall apply Theorem 3.1 in the proof of global (in time) existence of solution of the Cauchy problem for the nonlinear hyperbolic system of partial differential equations describing a thermoelastic medium.

References

- [1] R. Adams, *Sobolev Spaces*, Academic Press, New York 1975.
- [2] K. O. Friedrichs, *Symmetric hyperbolic linear differential equations*, Comm. Pure Appl. Math. 7 (1954), 345–392.
- [3] Yu. V. Egorov, *Linear Differential Equations of Principal Type*, Nauka, Moscow 1984 (in Russian).
- [4] J. Gawinecki, *Matrix of fundamental solutions for the system of equations of hyperbolic thermoelasticity with two relaxation times and solution of the Cauchy problem*, Bull. Acad. Polon. Sci., Sér. Sci. Techn. 1988 (in print).
- [5] S. Klainerman, *Global existence for nonlinear wave equations*, Comm. Pure Appl. Math. 33 (1980), 43–101.
- [6] —, *Long-time behaviour of solutions to nonlinear evolution equations*, Arch. Rational Mech. Anal. 78 (1982), 72–98.
- [7] S. Klainerman and G. Ponce, *Global, small amplitude solutions to nonlinear evolution equations*, Comm. Pure Appl. Math. 36 (1983), 133–141.
- [8] J. L. Lions et E. Magenes, *Problèmes aux limites non homogènes et applications*, Dunod, Paris 1968.
- [9] A. Piskorek, *Fourier and Laplace transformation with their applications*, Warsaw University, 1988 (in Polish).
- [10] J. Shatah, *Global existence of small solutions to nonlinear evolution equations*, J. Differential Equations 46 (1982), 409–425.
- [11] S. L. Sobolev, *Applications of Functional Analysis in Mathematical Physics*, 3th ed. Nauka, Moscow 1988 (in Russian).
- [12] W. A. Strauss, *Nonlinear scattering theory at low energy*, J. Funct. Anal. 41 (1981), 110–113.
- [13] E. S. Suhubi, *Thermoelastic solids*, in: Continuum Physics, A. C. Eringen (ed.), Academic Press, New York 1975.
- [14] H. Triebel, *Interpolation Theory, Function Spaces, Differential Operators*, Deutscher Verlag der Wissenschaften, Berlin 1978.

DEPARTMENT OF MATHEMATICS
MILITARY TECHNICAL ACADEMY
S. KALISKIEGO 2
01-489 WARSZAWA, POLAND

Reçu par la Rédaction le 10.9.1989
Révisé le 7.5.1990